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1. ( YVR[X+E =+ 1]+ (x+ 1)V EE=E (A)6. (B)—-6. (C)—4. (D)-5. (E)S8.
[Eﬁi ] B
{iPEJZi]

= P ER = (1) "+ 7(-1)® = (-1 +1=1-7-1+1=-6.

“NIEARB( BRI10S)
Lo 3= g OOfvg (-1)=9(0)=9(2)=0,9(3)=-72,5Hl
(HgX= (T =)
Q2)E, 27F=0h (x) =x" = x>+ 1, H[] 3g(x) +4h (X )¥x — 3 [RAVER=1 T
[Pﬁifl] (1)—6x (xX+ 1)(x—-2). (2)76.
[imzﬁi]
(I)E“g( 1)=9(0)=09(2)=0,degg(x)=3,
E%g(x) ax(x+1)(x-2)
< g(3)=12a=-7T2=>a=-6, ﬁ,’?g(x):—6x(x+1)(x—2).
(2)~?J F(x)=3g(x)+4h(x), HIFRER= 5% F (3)=39(3)+4h(3)=-216+292=76.

2. OO FHC 2700, M x— 10, 68559, ') x=3 =0, 8050 13,
B F OO (x = 1)(x =3 iRz, °
{Eﬁif[] 2X + 7
(e
SIEHIf(1)=9,f3)=13, FFfX)=(x—-1)(x=-3)Q(X)+(ax+b)
{f(l):a+b:9 {azz
= ,
f(2)=3a+b=13 " |b=7

CERUER 2X 4+ 7.

-

3. BLTEAT OO X = 1,0 = 2x + 3 VAR AV 2, 3x + 3,
%ﬁ*f(X)Bf[J(X—l)(xz—2X+3)FﬁJ§ﬁ=?“
[“ﬁif‘/{] 2%+ 7% -3
[Pi‘fjﬁ]
F%‘f(x):(x—l)(x “2x+3)h(x)+a(x* —2X+3)+3x+3
Sf(l)=2a+6=2=a=-2. 87 —2x*+7x-3.
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4. =IHIZEG (X)) = x+9x+2oif»,p:kf(x)=x4+4x3—19x2+ax+1zog<v[4d,:h‘, Zfa
[/IE[ .

{EJZIL ] —46.

{F:‘FEJ’#]

X2+ 9x + 20 | x*+4x° —19%* + ax + 120
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1-5+6
1+9+20)1+4—19+ a +120

1+9+20

-5-39+ a +120

-5-45- 100
6+(a+100)+120
6+ 54  +120

0
~a+100—-54=0=a=—46.

5. ‘Jx+1fsff.l‘;f(x)=ax2—x—4f%@o%@’m, FRI X -2 B (x) VB

X= 2[*j f(x)=6x*—x—4
Hf(2)=24-2-4=18, . f (X} ]x -2 VEE T 18.

6. %(x) X+ 6x = 4+ 25x2+ 30x + 20, (-7 )= o
(?j
{i‘fpjzi]

1 +6 —4 +25 +30 +20 —7

—7 +7 —21 —28 —14

1 —1 +3 +4 +2 +6

s f(=7)=6.
7. X —x—2 B+ 2+ ad+ bx + 10 VR, RErEf(a,b) =
[Eﬁi 1 (-10,-1).
[%Eﬁi]

PP —x—2=(x+1)(x—2) . x+1,x—2HEE P
(=) +2(-1)Y+a(-1)Y+b(-1)+10=0=>a—-b=-9,
2'+2x2+ax2’+bx2+10=0=4a+2b=—42,f#Ha=—-10,b=—1.

8. Flx—1[E(x—2)"""+2008 Hrifl iRz 1]
(5T 2009
G
fF 0 =(x=2)"+2008
FIER=V A = BR=lr=f(1)=(1-2 12995 2008 = 2009.

9 f ST, IEZQT F(x)= X' =3’ + 2 + kx = 3 Ejﬂ[ i VPNZE, BRRKL=

{Eﬁifl =3.

{F‘rFPJZi]
T OO WP ax— b,
<all,b|-3, Fr[srax bp Hbtfﬂ Xt1,x£3
(Dx+1f(x)=f(-1)=0=k=3(] 7).
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Q)x-1[f(x)=f(1)=0=k= 3(7
B)x+3|f(x)=f(-3)=0=k= 59(7F[)
@Hx-=3]f(x)=f(3)=0=k=-5.

Ffﬁk:—S

10. Rf(x)=6x"+ 5% +3x*—3x — 2 VIR P
{Eﬁi ] 2x+1,3x—-2.
KEFEJZJL]

(l)f(x) ox*+ 5%+ 3% - 3x — 2
—f(1)=6+5+3-3-2=9f(-1)=6-5+3+3-2=5,
=f(x) Ix—1,x+1 V=

(2) Flax—bEif (x)V[HN=', a,beZ, (a,b)=1=a|6,b|2
= iE SELX £1, 2x £1, 3x +1, 3x +2, 6X *1

Pt R R £(-2) =0, £(3)=0

—Sf(X)=(2x+1)(3x—2)(*+x+1) =— FR=UEG2x+ 1, 3x— 2.

lr%‘f(x) x'— 2%+ 4+ ax + 3 E 1Y WX - 3, fal fifl=
[“ﬁif‘ff] 2.
[F’—FJ’]

f(3)=81-54+36+3a+3=0=>a=-22,

12. P%degf(x)zz PR (OFEN ) X =2 HERZ 12, [RI] x+ 3 fHER —13, TR (xR (X
—2)(x+3)ap=t ° .

{Eﬁi ] 5x+2.

(i)
f(x)=(x=2)gu(x)+12=(x+3)q(x)+(-13)
:F%f(x)z(x—z)(x+3)g(x)+a(x—2)+12,

ER=
Vf(-3)=-13=a(-3-2)+12=-13=-5a=-25, fFra=>5.
SR EETUEL S (X —2) + 12 = 5x + 2.

v ?g * "’F':Cf(x)ﬁﬁ?"ixz—l'&%3X—4; I+ 1 ERx—6, [ f(x)=
*‘*] X+ X2+ 2x - 5.
[F:"FEF]
RS f(x)=(xX+1)ax+b)+(x-6),
Ci(1)=-1,f(-1)=-
~2(a+b)+1-6=—1,
2(-a+b)-1-6=-7,=a=1,b=
i T =+ 1)(x+1)+(x=6)= X+X2+2X_5.

14, T X2 3+ x+ 1 Vgt
[Eﬁif[ 1.
(ﬁﬂﬁi]
=(x?-—1D)+1=(xX"-1)(XC+1)+1=(C-1)(X+1)(xX*+1)+1
=(x2+x+1)(x—l)(x3+1)(x6+1)+1, ﬁ(r@%;ﬁﬁgl
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15. =ax’ + bx* — 47x —15 oA 3x + 175 2x = 3 WY, 3

a, b1 fifi KRBT PN,
(] a=24,b=2, 57 P70 4x + 5.
S
(e

Zra+ bt —47x—15=(3x+1)(2x—3) (cx+d)

F S S S
P Hd =5

= (3x+1)(2x—=3)(cx+5)
=(6X°—7x—3)(cx+5)

= (6C)X+ (30 —=7c)x*+ (=3¢ — 35 )x —15.

. 6c=a,b=30-7c,—47=-3c—35
=Cc=4,a=24,b=2

SPIIPEIPIEU LR 4x + 5.
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